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e Please check that this question paper contains 24 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36+32+11 questions.

e Please write down the Serial Number of the question before
attempting it. :

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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1. = % 3 3 ua 399 foar s q&ar & :
(1) FIforsg & a7 |
(ii) @G 79 A@ET F T |
(iii)  cFT (Ragr=7) - 73S rgar 7= |
2. ZFU (fGgr) - S wgar  ’fE & fw (fFaT guT ;2 52 g
HfEFTT 3HF : 20) |
Note :
1 Any one of the following areas can be offered :
(1) Elements of Business.
(1i)  Elements of Book-Keeping and Accountancy.
(iit) Typewriting (Theory) English or Hindi.
2. For Typewriting (Theory) English or Hindi (Max. Time : 2 Hours
and Max. Marks : 20).
() afisg & @
Elements of Business
amr= 739 :
i) 39 97 % 736 597 & |
i) & 3v7 SifFErd & 1
(iii) ¥97 G& 1 T 16 7% Tgaawcdiq 597 & & J09% 0% 3% F1 8 | 379 @
& fawey F IR Yfaer F for@r 8
(iv) F97 F& 17 T 32 7% T9% J99 3 3% F & | 37 F94 & W 10 V=)
- B 3 F T &7 TRT
(v) ¥97 GG 33 T 36 TF IIF JVT 4 HH F & | §7 I F IW 150 V=)
- B ® & & ET aRT
(vi) U J99 & T4 97 TF T1Y & FF 8 |
General Instructions : _
(1) This part has 36 questions in all.
(it)  All questions are compulsory.

35



35

(iii)

(iv)

(v)

(vi)

Questions from serial no. 1 to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the

correct option in your answer-book.

Questions from serial no. 17 to 32 carry 3 marks each. Answers to

such questions should not exceed 10 words.

Questions from serial no. 33 to 36 carry 4 muarks each. Answers to

such questions should not exceed 150 words.

Attempt all parts of a question together.

frafafea & @ = gfae S 7 2

(A)
(B)
(®)
(D)

FogEr & ftea
qaifyat 3fel & frfea
sH Ay

% srfufaed

Which of the following is a current liability ?

(A)
(B)
(C)
(D)

Issue of Debentures

Issue of Preference Shares
Public Deposit

Bank Overdraft

frafafad § | S99 &d @HE &Y 78 8 7

(A)
(B)
(C)
(D)

A 3
stwr fta
EALEREUEC]
Siqemia

Which of the following is not an Owned Fund ?

(A)
(B)
©)
(D)

Bonus Shares

Issue of Shares

Issue of Debentures )

Retained Earnings

PTG



st & frtee fa @i @ @

(A) EEEE W & fag

B) g% o w % R

(C) [&g 3IUHA & faw

(D) U UR (THe @iHe) & fog
Issue of shares is a source of finance for
(A) Partnership Firms

(B) Joint Stock Company

(C) State Enterprises |

(D) Sole Proprietorship

frefafaa & @ fo &1 o= @i SiAw 7@t 8 ?

(A) wfqaa ema

(B) yaifgeR i3 &1 fried

(C) =% =

D) ISt F AR

Which is not the internal source of finance among the following ?
(A) Retained Earning

(B) Issue of Preference Shares

(C) Loan on Mortgage

(D) Ploughing back to Capital

frefeafad § @ Sefweia & & & SHa 8 2

(A) =YR S

(B) o stfufawd

(C)  aefln (FR=ri)

(D) fowm o9& & =07

Which of the following is a source of long term finance ?
(A) Trade Credit

(B) Bank Overdraft

(C) Factoring

(D) Loan from Development Bank
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T IR S 3 e BOE & - BT 8, Seerdr @ 1

(A)  FEH TR
(B) % 9
(C) @y faufor
(D) @& TR

A market where Shares and Debentures are bought and sold, is called
(A) Retail Market

(B) Wholesale Market

(C) Stock Exchange

(D) Commodity Market

TFE A Sl faw @ ogawer s @ _ 1
(A) W IUR FT Fh

B) o @d W o b

(C) =l & e g

(D) = F IR o =

A Sole Trader arranges long term finance through

(A) Credit Purchase of goods

(B) Own Capital Investment

(C) Issue of Debentures

(D) Credit Sale of goods

ﬁmﬁﬁaﬁwmﬁwﬁ%ﬁﬁwﬁ% oy
(A) == 3 Tm A

‘(B) fafmg o3 &t <3n o

(C) wfowm w &t <en #

(D) guel & <3 A

Acceptance is required in case of the following Negotiable Instrument :
(A)  Cheque

(B) Bills of Exchange

(C) Promissory Notel

(D) Hundi

5 P10,
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10.
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TRSH & S G99 & AU UF IR &H S 1 991 F9d SRueadr & fafg ®
a9 e W SAHHER SeH H a9 # g # Fed @

(A)
(B)
(C)
(D)

Faq @l
et (fafar) @
W (qEdT) ST @ran
EIGREIl

A Banking facility enabling customers to deposit the money once for
a long time and ‘withdrawal only on maturity is called

(A)
(B)
(C)
(D)

Savings Bank A/c
Recurring A/c
Fixed Deposit Alc

Current A/c

TH 9% S 1 A6, 2012 F fEita fea R S W 20 Sedt, 2013 & fafyr

fagt T 8, 3@ &

&) T (FrE-fE) 3
B) - 4

©) foga %

(D) w-feAifea ==

A cheque issued on 1% March, 2012 and bearing the date 20th January,
2013, is called

(A)
(B)
(C)
(D)

Stale Cheque
Ante-dated Cheque
Mutilated Cheque

Post-dated Cheque



11. frfafad & § %% &1 901 =0 3w 8 2 1
(A TS F SEEA '
(B) usl w
(C) 7 H = o
(D) W WHER FT

Which of the following is a primary function of a Bank ?
(A) Giving security of the customer

(B) Agency work

(C) Giving references. of the customers

(D)  Accepting deposits

12. % 9% S 9% & f@ed W TG A 9 A F T F AU 37 @ 8, 39

T ST 7 1
(A) EF °9F

(B) foga o=

(C) Ry ¥%

(D) Y@ifdd 9%

A cheque which is payable to a person who presents it at the counter
of the Bank for payment, is called

(A) Bearer cheque
(B) Mutilated cheque
(C) Order cheque
(D) Crossed cheque
13. & g ST W W AN @ S g 1
(A) F9d @El |
(B)  3mEdl () @i W
(€)= () W Ed W
(D) =7 @l W

35 7 4 P.EQ.



Banks allow interest at highest rate on
(A) Savings A/c

(B) Recurﬁng Alc

(C) Fixed deposit A/c

(D) Current Alc

d91 ZW 24 w9 U Fren @ & gg gl @ Fed 8 |
A) uwdum
(B) v e
(C) Y= T
(D) wH ST

A Banking facility enabling customers to withdraw cash 24 hours a
. day is called

(A) ATM

(B) Credit Banking

(C) Net Banking

(D) Phone Banking

frfafea o ges=e &9 &1 9% ST 8 2

A) e d9% fafes

(B) ¥REq d% fafes

(C) % 3% agha

(D) 7 I% fafes

Which of the following is a Public Sector Bank ?

(A) ING Vysya Bank Ltd.
(B) Saraswat Bank Ltd.
(C) Bank of Baroda

(D) Vaishya Bank Ltd.



16.

17.

18.

19.

20.

21.
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9% F gIH G WY @ _ 1
(A) R 9% '
(B) 9d Wdsdl & @ #

(C) 3SEEFUT FHad MaHal & @d §

(D) Y@ifdd 9%

Safest form of a cheque is

(A) Bearer che(jue

(B) A/c Payee only

(C) Not negotiable A/c Payee only
(D)  Crossed cheque

TF F9E F IR (FAfET) OSit F i s A G @ gest &t weg |
S HIST | 3

Explain in brief any three factors determining the floating capital of
a business.

frfafaa & 989 § g93mse | | : 3
@) = E
(i) @ s

Explain briefly the following :
(1) Loan capital

(ii) Owned capital

FUgT H IRfd HINT | ForwE & e @ 89 Al 5 @ il ol gmemsT 1l 3

Define debenture. Explain any two disadvantages of issuing
debentures. :

T O g iR ofE & frifie s | e @9 e R d= et &
AT FHT | g

Explain any three advantages of issuing preference shares by a
company.

T EfEel) ST @ e w0 Y IS 39 9o feet 9 o S SEeRT | 3

Explain any three advantages of issuing Equity Shares.

9 P.T:0.
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23.

24.

25.

26.

27.

28.

29.

30.

35

ﬁﬁ%ﬁﬁmmmﬁ%_aﬁml-

Explain the meaning of Indigenous Banks and Industrial
Development Banks.

Idg fod d% & gl 3wl $1 guEme |

Explain any three functions of Reserve Bank of India.

FUd I WA F a1 & 7 T WA & YOO § IUAN H oA Al [ qu
ofedi & AW 991 STEN Sl SHERT |

What is meant by Savings Bank A/c 7 Explain names and uses of
books and slips used in the operation of this account.

AT ST FT & 2 THEH o A H g ge IR |
What is Electronic Banking ? Explain with its two advantages.

T afSa s7ger fafvg fraell & gaeRy e foueg fed 9% 3w e
T H Tl |

Explain any three prohibited or forbidden activities which cannot be
performed by the Reserve Bank of India.

aftrfsas d@f & frat YR @9 § 2 THERT |

What are the types of Commercial Banks ? Explain.

TS OF 991 UF 9% g § R dF e @ v |

Give any three differences between a Cheque and a Bank Draft.

Sfosn 9 #9181 @ 2 WS oy 9 H i gel @ sHre sy |

What is Promissory Note ? Explain the parties involved in a
Promissory Note.

s fafma 7 & fowga 1 & w7 3 Bt § ? 0% fad & fowgd @1 W daR
el §R T FeH IJC ST GHd & 7 THIET |

What is meant by dishonouring of a Bill of Exchange ? What are the
steps which can be taken by a drawer in case of a dishonoured bill ?
Explain.

10



31.

32.

33.

34.

35.

36.

35

T & IR AT | TF 9% F 99H & % 9 SR T | 3

Define endorsement. Give any two examples of endorsement of a
Cheque.

a1 97 q91 g0l § =R AR | (FF ) 3

Differentiate between Promissory Note and Hundi. (any three)

TR # g9q 9% @ & ¥ FE Fa g 2 SER F g9 o9k @il a9 T o9k §
TG 9% @A F BE dH =R FART | ik
What is meant by Savings Bank Account in the Post Office ? State

any three differences between the Savings Bank Account in the Post
Office and Savings Bank Account in a Bank.

frtifere &1 TWEST : 4
() e e |

(i)  arfas ¥R

(i) faa 1 TR

(v) fen ==

Explain the following :

(1) Trade Bill

(ii) Holder in due course

(iii) Renewal of Bills of Exchange
(iv) Noting charges

Fyfrs =eud ¥ faw & 95w & 5 9r fagel & =men Sk | 4

Explain any four points of the importance of Finance in modern
business.

T # S ol & 5 9 e s @ fawr ¥ aren S | g

Explain in detail any four main functions of Stock Exchange in India.

11 P. 1@,
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(ii) FEEET TG AGHT & ad

Elements of Book-Keeping and Accountancy

() FTITHTFTI2 TTE |

i) @ 397 SfFad & |

(iii) ¥97 9@ 1 T 16 7% Fglamcyid 597 & 5l T9% U% 3% F & | 370 §
@ fa%ey F IR-Yiaw & e §

(iv) TF ¥99 & 5 977 TF &7 & FH & |

General Instructions :

35

(1)  This part has 32 questions in all.
(ii)  All questions are compulsory.

(iti)) Questions from serial no. 1 to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the
correct option in your answer-book.

(iv) Attempt all parts of a question together.

faell 1 yoied fFar Srr 2

(A) TR gW

(B) UBidadl gNI
(C) =i g7
(D) TR T

Bills are endorsed by
(A) Creditors

(B) . Endorsers

(C) Endorsee

(D) Debtors

W9 9% FN YA UESH & WY F Y F ITkh G GART qgA FA & g SEr
fr gu fac @ =i (Ree) IR a9 axar @ af o S o @

(A) A%e T
(B) 9 faad @rar
(C) <7 faa@ @mm
(D) == @

12
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While retiring a Bill under rebate by the Bank on- behalf of his
customer, who had deposited the Bill for collection in the Bank, the
Bank will credit the Account

(A) Cash Alc
(B) Bills Receivable A/c
(C) Bills Payable Alc
(D) Rebate A/c
S 2 W AN T O F R 8 S, o oEs H I 8 @ S
B 8 | 1
(A)
B) &=
(C) < foret @
(D) <3 faa @
When a discounted Bill is dishonoured, the account to be credited in
the books of drawer is
(A) Drawee
(B) Bank
(C) Bills Receivable A/c
(D) Bills Payable A/c
F fod W @iE # aiE 31 S 2012 7 | faw & e & @y & @ ) an
fafa g 1
A) 130
(B) 2 30
(C) 3ama
D) 436
The date of acceptance on the Bill is 315" January 2012. The Bill is
for a period of two months. The date of maturity will be
A) 1% April
B) 24 April:
©) 3™ April
(D) 4™ April
13 ' _ P.T.O.




35

F W 9 H W A §

A) T
(B) @9 ww
(C) =R ¥

(D) 3w ¥ ¥ FE T

A Promissory Note generally has
(A) Two Parties

(B) Three Parties

(C) Four Parties

(D) None of the above

% 3,000 TF 1 TSl S STAT Wi F R & 3T & AU 9% T us g
H g7, A H fomar s =g

(A) Ui @rar
(B)  yfirerdl @@
(C) g @

(D) AR Gl

Goods worth ¥ 3,000 used in making an asset for domestic use of the
Proprietor, should be debited to

(A) Asset Alc

(B)  Suppliers A/c

(C) Purchases Alc

(D) Drawings Alc

U @Al S de9e & AW @ 3R Wef¥| 2, forar s
(A) fofe fgewor Ft SeifEl #t R

(B) feafg foeror &t gwufaal & e

(C) =NR @I & 99 F 3R

(D) 9-gH @A & 99 & AR

Suspense A/c in the Trial Balance shown as debit balance, will be
entered in the

(A) Balance Sheet’s Liabilities side

(B) Balance Sheet’s Assets side

(C) Trading A/c Debit side

(D) Profit and Loss A/c Debit side

14
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T QU A A QUi e (FReReY) SRl & AW H faer S ARy 1
(A) T @ A

(B) WA @ H

(C) s & =afwma @ |

(D) wds # ¥ IR T

Overhauling charges of an old machine should be debited to

(A) Repairs Alc

(B) Machinery A/c

(C) Personal A/c of the labourer

(D) None of the above

g8 F SNE M W W W S T, A G S BT =ET 1
(A) B9 @ '

(B) =T @rar

(C) fusit @

(D) 3 ¥ FEA @

Goods destroyed during the year due to fire, should be credited to
(A) Depreciation Alc

(B) Purchases Alc

(C) Sales Alc

(D) Loss by fire Alc

& fomasdl & FHRE % 9 F T 5,000 F POE, UG AT WA & AH

forar mar | eryfe % GER @ wfEfE § SRR S AR -7
A) Uz @@ ¥
(B) wHYH @ H

(C) fapgwdl & =afed @
(D) 9w H ¥ FE T
Commission to a salesman paid ¥ 5,000, was debited to Salesman’s

Personal A/c. In rectifying entry, the account which should be
credited will be .

(A) Cash A/e

(B) Commission A/c

(C) Salesman’s Personal Alc
(D) None of the above

15 R.T.O.
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12,

13.

35

TH 3MYfaedl B T 900 F W A9H fHAT | IS AfHIG @aT T 400 ¥ ST
fopan T | W U A & ARG @ AW g R

(A) ¥ 9500
(B) <X 400
(C) <% 1,300
(D) < 3,100

Goods returned to X a supplier ¥ 900. His Personal A/c was credited
by ¥ 400. The Personal A/c of the receiver should be debited

(A) T 900

(B) % 400
€ T 1,300
(D) ¥ 3,100
B g 2

(A) g F sdifds STET 91 2% F FR
(B) THfEl & @SR qed § fEe & &rot
(C) W& & He& # FA & FWUT

(D) SFEE S99 % BRI

Depreciation arises due to
(A) Physical wear and tear of the Assets

(B) Fall in the market value of the Assets
(C) Fall in the value of money
(D) Sale of Business

@ Tgyd g W frEfafed § @ g S S S SR 8 G678 2
(A)  fspeoy

(B) 99T & 9HMYA

C) T

(D) GHfd & 99K I %9 84 9

 Which of the following is the cause of depreciation in case of a

‘Leasehold property’ ?

(A) Extraction

(B) Lapse of time

(C) Wear and Tear

(D) Fall in market price of the property

16



14, o fFve wgfa # greh W og S U H O e F A e € 1
(A) w9 9
(B) T A
(C) 3w W faan ar wHvH
(D) 3IWF F ¥ FE T
Under Fixed Instalment method, depreciation is calculated on the
Asset after deducting the
(A) Installation charges
(B) ~ Scrap value
(C) Commission paid on purchases
(D) None of the above

15. TH " 1 30w, 2010 F T 50,000 ¥ %7 & T, fFow Saqee 10 9§ g IR

IHH VT qed T 2,000 2 | W ¥@r wgfa F IHER AR g8 & g @ 1
(A) T 5,000
(B) T 4,900
(C) T 4,800
(D) ¥ 4,700

A machine was purchased on 15 April, 2010 for ¥ 50,000. Its life is
10 years and its residual value is ¥ 2,000. Amount of Depreciation
according to Straight Line Method in the 3™ year will be

(A) ¥ 5,000
(B) T 4,900
(C) T 4,800
(D) 4,700
16. T & fohg § g oW I WHERG fFA S @ 1
(A) TG @« H ;
(B) wm9-gfg @q §
(C) ®W @«
(D) w99 @ #

Profit on Sale of Machinery is transferred to
(A) Machinery A/c

(B) Profit and Loss A/c

(C) Depreciation Alc

(D) Reserve A/c

35 17 P.T;0.
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18.

19.

20.

21.
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iR W F1 2 Hes fGevil 1 Werddr ¥ fas v $ WY R i |

What is Promissory Note ? Give the format of a Promissory Note
with imaginary details.

oEE T A e § frafatea qened § s Usnn sfafgat @ S

(A) wRusaar fafy 7% oo & o U W@ S @ SR ¥ WO e
= foar s @ |

(B) @ ¥ ¥ Il FUE aw T forn S @ |

(C) @ 999 ¥ gd werdt (o) W e fafy & g@ & syam o fornr st
21 |

What Journal entries will be passed by the drawer in his books for the
following :

(A) A bill is retained till due date and encashed on maturity. |
(B) A bill is discounted with his Bank.

(C) A bill is retired under rebate before due date._

1 S, 2012 & Fw ¥ S X 5,000 qTT H oA = | I feT wfer A
I FW FAHY W AQ T3 AW F fa W Wi T § 1 yen oy | faw
F TEE B T | AGE H TS § sErE qafEa S | <

On 1% January, 2012 Satish sold goods to Shashi worth ¥ 5,000. On
that date Shashi accepted a bill drawn upon him by Satish at 3
months for the amount. On due date, Shashi honoured the Bill. Pass
the Journal entries in the books of the drawer.

‘W’Ww@ﬁ%?ﬁﬁmﬂ@ﬁ%ﬁammi

What is meant by the errors of ‘principle’ ? Give any two examples of
such errors.

T srfed & F% 99 e AR S dee SR w9 Y f I T A |

State any three examples of errors which cannot be located by the
preparation of Trial Balance. :

18
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23.

24,

25.

26.

35

T FEA F s 5y vSfa F S 99 oY §9Ry |

State any three advantages of chargmg depreciation- by Reducing
Balance Method.

Fﬂﬁ@ﬁﬂ&ﬂ%ﬁﬁﬂ?ﬁéﬂﬁﬁﬁmmwmaﬁﬁmﬁmﬁm
ST @ 39 GHIET |

Explain the factors to be considered while calculating the amount to
be charged as depreciation on an Asset.

2t e fafde 3 1 8@, 2008 ® & wEAU T 3,00,000 ¥ Ha & fowE

FdHE 10 9§ 97 | 103&%%%&3@?@?30000%!
yfa ¥ arv-gifa @ # feEes S oAl g @ i @ T it fa e
o @ & g FRT SO 3§ Ff 99 FGC | BW G W@ Sfd ¥ o S
21 _
Tarex India Ltd. purchased a machinery on 15 April, 2008 for ¥ 3,00,000
whose life was expected to be 10 years. Its estimated scrap value at the
end of 10 years was ¥ 30,000. Find out the amount of depreciation to be
charged to Profit and Loss A/c every year and also calculate the rate on
which depreciation is to be charged every year. Depreciation is charged by
Straight Line Method.

fafrr o7 321 dar @ 2 fafa w9 fel | favarst @ e |

What is a Bill of Exchange ? Give any three characteristics of a Bill
of Exchange.

s sfafedl & meam ¥ fefafea sryfedl &1 duee i

i) T 3,000 957 & WA H IW@M @ A U4 s, Igdmr § fRan, dfed
IH G FE AR R T N

Gi) I F ST F e A R B e #® Ased & T 10,000 F
&g weigd @ # ferar @

Rectify the following errors through passing Journal entries :

(i) Goods worth T 3,000 used by the owner for his personal use have
not been recorded anywhere.

(ii)  Wages paid ¥ 10,000 for makmg funiture for office was debited to
Wages Alc.

19 P.T.O.
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28.

29.

30.

35

FRUT Wfeq FaRe & F fefafed 9@ § @ owe

() A ol AEE W W gI u9F G @ Tl @ A T A% F @A F 5|
B | |

(i)  HET F AN F PIAA HOAl & FeTd @ F T fo@r ST |

(i) el @ w<F s I gl g |

(iv) A & T & ®9 § qw fGmor fam @ § s 9 |

State the following with reason whether they are correct or incorrect :

(1) If a cheque received from a customer is dishonoured, it will be

credited to Bank A/c.

(ii) Interest paid to Kalpana will be debited to Kalpana’s Personal
Alc.

(iii) Suspense A/c always shows Credit Balance.

(iv)  Goods distributed as free samples should be credited to Sales Alc.

I @ F F ATE A 7 UG FA @ren Sl 22 I IR EN
T |

What is meant by Suspense A/c ? When is it opened ? Explain with
a suitable example.

e e F = e AT & 2 3% 5 O ot 9 smen S |
What is meant by Accommodation Bills ? Explain any three
advantages of such Bills.

T 1 TSR CET I ————l

I Wi F, N waa & T 5,000 F AT 4, T T 2,000 THE I

a1 ¥ 250 S §fed A9 ¥ fouw A fw @ Q) 9@ & fau @R % fH5a
™

Pass the Journal entries for the following transactions in your own
books :

Renewed our acceptance in favour of Kalia ¥ 5,000 paying ¥ 2,000 in
cash and a new bill for the balance at two months with ¥ 250 as
interest.

20



31.

32.
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Frafafaa sifedl &t 3% ifg

(i) T gL RO FH T 1,800 H I T A T @ W |

i) =& & T 16,000 ﬁa@ﬁm'éﬁaﬁw%%wmn@ﬁ%w
¥ foet T 2 |

(iii) wmmmﬂo,ooomrgﬂmmaﬁm@ﬁaamﬁm
mr |

(iv) ‘o7 q IO Uehl & SAfFTT 3TN & fAU wE FEgeX T 20,000 § wF
fFan dfq 38 FElew TR @[ & 9W fag e ™ |

Rectify the following errors :
(1) Bad debts recovered ¥ 1,800 not yet recorded in the books.

(ii)) An amount of ¥ 16,000 received on account of interest was
credited in the personal A/c of the person who paid interest.

(iii)) Received a sum of T 10,000 from Gwala, a debtor, was debited to

his personal Afc.

(iv) ‘A’ purchased a computer for ¥ 20,000 for his wife’s personal use
but was debited to Office Equipment Alc.

T, 98, S, fAfeE ¥ T WA T 40,000 ¥ 1 SHAd, 2006 F FF F | T
fofa forar mar fe wefiAl W 20% wfad AP wedt wEfd 9 BN @R ST |
30 S[F 2007 ® ¥ 20,000 ¥ TH R AL FA & TE a4 1 SIS, 2008 H
et 79 & % T 10,000 # fRE w1 4 =W & o, 81 fawwR, 2009 #:
A g 9T 99 a% & foT, WYiAG @ 99R HiNT 98 "ed ge fh am o
31 fegmr & & < A T |

XYZ Ltd. purchased a machine on 1% January, 2006 for ¥ 40,000. It
was decided to depreciate the machine at the rate of 20% per
annum at diminishing balance method. On 30" June, 2007 another
machine was purchased for ¥ 20,000 and on g January, 2008 one
more machine was purchased for ¥ 10,000. Show the Machinery Alc
for 4 years upto the year ending on 31% December, 2009 if the books
are closed on 31%° December every year.
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(iii) Z=ur (fogr) siish/ e
Typewriting (Theory) English/Hindi

a2 :

G) G F g 11 597 & | T 397 sifard &

(i) ¥ & 3% §99 & 51 RT 17T & |

(iii) 597 G&F-1 B 5 0% & 59 599 1 3% & & | 59 ¥94l & I & V=<
g UF G 7% & 9% &

(iv) ¥997 §&T 6 T 10 7% F9% 5372 3% & & | 37 5991 § § 99%F & TH
60 v @ 3ifys 78 & TR |

()  F¥ qeFr 11 aﬁmwm?xwmwaﬁtmow#aﬁaw

g MRT |

General Instructions :

1.

35

(1)
(ii)
(iii)
(iv)

(v)

This part has 11 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial no. 1 to 5 are of 1 mark each. Answer of these
questions may be from one word to one sentence.

Questions from serial no. 6 to 10 are of 2 marks each. Answer of
these questions should not exceed 60 words each.

Question serial no. 11 is a long answer question. Answer of this
question should not exceed 120 words.

R TR R Al F gERA & fAU @ & v 9@ e s | w49 2

The eraser is not used for carrying out corréctions on a Stencil
Paper. Why ?

TRWES W L HET A1 9 R/ W 2T FET SHl T & T & FHrianesr
§ | T 37 9Bd § ? FO UE I ¥ GHIRT |

Cutting a stencil on a typewriter or typing some matter on a plain
paper, both are the same thing. Do you agree ? State in one sentence

only.

AT gL VR F BT & faT w&@m § o9 a9 Y6 Seyd SO F SR |

Give the proof correction symbol used to ‘omit the word indicated’.
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oof R T ¥ fw A oMY ARt R W W A |

Give the proof correction symbol used for inserting full stop.

fean. &1 qof &7 &S |
Give the full form of K.G.

2fge Fred w9, 1A F 9 W IR I YN S g 2 98T F gEemns |

While cutting the stencil, how can the mistakes committed be
removed ? Explain in brief. :

TRWRA R Lfad Fed T0F & § @A aiel Hi3 o gEe—ai & sasy |
State any two precautions which you will take while cutting a stencil on
a typewriter.

IR Fa g9 frefafed form fogi & @ ¥ ©@ 99 o & &g Y fRea
@[ BIET ?

() o9 fm

(i) qof fomm

How many spaces will you leave before and after the following
punctuation marks while typing ?

(i) Comma

(i)  Full stop

freferfam % fore sefer o T

(i)  offteg Hm
(i) &l

(i) wfq a9
(v) ¥g-TE

Give the standard abbreviations for the following :
(1) Office Memo

(ii)  February

(iii) Per annum

(iv) Press-Note
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10. m'wawmmé?@mﬁmmw1

11.

What is meant by stencil plate ? State its uses in an office.
TEEEfET § vfg @ & fEdl @ faar § gEEmET |

: HYAT :
forddt faawor &t ey =@ & fau afve Ui =@ @ 9o & e |

Explain in detail the rules of increasing speed in typewriting.
OR

Explain the procedure of setting margins while typing the matter.



